Written Examination in Discrete Mathematics TATA82, TEN1, 2018-11-02, kl
8-13.

No calculator.

For grade 3 are required 9 points, 12 points for grade 4 and 16 for grade 5.

Complete motivations required.

1
1. Show with Mathematical Induction that (1 — i)(l - 5) 5w L —13) _ntl
n

2. (a) Is the graph below Hamiltonian? Eulerian? In affirmative case, provide a Hamiltonian cycle
and a closed eulerian path.  (2p)

forall n>2.

(b) Determine the graph’s chromatic number. Is the graph bipartite 7 (1p)
3. Consider 5-digits numbers such that they contain any digit at most once:

(a) How many such numbers begin with 1 and finish with 23 or 327

(b) How many such numbers beginning with 1 are multiples of four? (a number is a multiple
of four if its two last digits form a number which is a multiple of four itself).

(c) How many such numbers do begin with 1 but do not end with 23 or 327

4. (a) Show that 1'% 4212 4 312 1 412 1 512 + 612 = 6 (mod7)  (2p)
(b) Two primes p and g are called twins if ¢ =p+2;e.g. p = 11 and q=13. Show that the
average of two twin primes is never a prime. (1p)
5. (a) Solve by —bbp—1+6bp_o=n+1,n>3,by=1,bp=4. (2p)
(b) Use Part (a) to solve nap, —5(n — 1)an—1 +6(n —2)ap—2=n+1,n2>3,a1=1a=2.

6. Determine the number of permutations of 1, 2, 3, 4, 5, 6, 7, 8, 9 and X that satisfy that none of
2, 4, 6 and 8 is fixed.

7. Consider the set A of all people resident in Sweden, and as such with Swedish identification
number. We define a relation R on A by PRP, if the identification number for Py is smaller
or equal to the identification number for P,

(a) Show that (A4,R) is a poset.

(b) Given two people Py, Py, determine inf( Py, P,) och sup( P, P2).
(c) Show that (A,R) is a lattice.
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For betyg 3 behtvs 9 poéng, for betyg 4, 12 poéng och 16 poing for betyg 5.

iLs

2.

w

Visa med induktionsprincipen att (1 — %)(1 - %) (1= %) = n2—|7;1 for alla n > 2.

(a) Ar grafen nedan hamiltonsk? Eulersk? I s& fall ange en hamiltonsk cykel och en sluten
eulersk vig. (2p)

(b) Bestdm grafens kromatiska tal. Ar grafen bipartit?  (1p)
Betrakta femsiffriga tal, sddana dér ingen siffra fsrekommer mer &n en ging

(a) Hur ménga sddana tal har som férsta siffra 1:a och slutar med 23 eller 327

(b) Hur ménga sadana tal har som forsta siffra en 1:a och &r en multipel av fyra? (ett tal t #r
en multipel av fyra om och endast om dess tva sista siffror bildar en multipel av fyra).

(c) Hur manga sédana tal har som forsta siffra 1:a och slutar inte med 23 eller 327

(a) Visa att 112 +2'2 4 312 4 412 4 512 1 612 = 6 (mod7)  (2p)

(b) Tva primtal p och ¢ kallas twillingar om q¢ = p+ 2; t.ex. p = 11 och q=13. Visa att
medelviirdet av tva tvilling-primtal aldrig &r ett primtal  (1p)

(a) Los den rekursiva ekvationen b, — 5bp—1 + 6bp—g =n+1,n >3, by =1,bp=4. (2p)

(b) Anviénd Del (a) for att 16sa den rekursiva ekvationen na, —5(n — 1)a,—1 +6(n —2)a, 2 =

n+1,n>3,a=1a=2. (lp)

Berskna antalet permutationer av 1, 2, 3, 4, 5, 6, 7, 8, 9 och X som uppfyller att inget av 2, 4,
6 eller 8 dr fixerat.

Betrakta méngden A av alla personer bosatta i Sverige med personnummer. Vi definierar en
relation R pd A genom P;RP, om personnummer fér P; Ar mindre eller lika med person-
nummer f6r Py

(a) Visa att R dr en partialordning.
(b) Givet tva personer Pi, Py, bestdm sub( Py, P») och m&b( Py, Ps).

(c) Visa att (A, R) &r ett lattice. s
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